
 
1. Zbroji! 
 
 
    234            561           382         487         681            374 
  +432          +325         +568       +423        +279         +577 
 
 
2. Oduzmi! 
 
 
   896          763         639          936         848           512 
  -673         -438       - 399        -267        - 484        - 358 
 
 
 
 
3. Zbroji brojeve 451 i 289. 
 
 
 
 
4. Izračunaj razliku brojeva 895 i 531. 
 
 
 
 
 
5. Odredi zbroj brojeva 521 i 477. 
 
 
 
 
 
6. Odredi razliku brojeva 752 i 452. 


